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a. 000000000 OobOOoo
b. 00000 OOODO
c. 0000000 OMOoOogoon
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e 100I0UIU00DWMUOUOCOOUIONDODOLDODUOOODOUOODOOODUODO (Lexical Conceptual
Structure, LCS) 00000000000 LCSO0O0DU0ODOODOOO0OODOODOOOOODOOOOOO
00000000000000000000 LCSOOO0D0O00000 (Qualia Structure, QS) OO
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2.1 000000000 (LCS)
0000000000000 0O0O0O LCSOooooonooonogon 1997: 6, 00000
(3) a. 000D (achievement verbs):
[event BECOME [state []y BE AT_[]Z]]

b. 0000 (accomplishment verbs):
[event [ ]« ACT ON-[],] CAUSE [¢pent BECOME [state [ ]y BE AT-[ ].]]

LCS 0000 (implicit argument)

(4) ...John was hit. Despite the absence of a by-phrase, the agent role in short passives is a well
defined ”implicit argument”. For example, the sentence The ship was sunk entails that there was
some agent or force that sunk the ship; in the unaccusative counterpart The ship sank, no such
implication exists. ... Moreover, purposive adjuncts, which require agentive events to control them,
can occur with short passives: The ship was sunk to collect the insurance (cf. * The ship sank to
collect the insurance, ...) (Pinker 1991: 90)

2.2 0000000 (QS)
00000000000 MO000N0000000000000000000000000

(5) print-matter _ lcp = {physobj - info, physobj, info} (Pustejovsky 1995: 154)
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A 1 = x: inf
ARGST = RGL = x: info
| ARG2 = y: physobj
(6) info - physobj _ lcp
FORMAL = hol
QUALIA = OR old {y, x)
TELIC = read (e, w, x - y)
| AGENT = write (e, v,x - y) | |

(Pustejobsky 1995: 116)
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(8) [event x ACT ON y | CONTROL [¢cyent BECOME [stte y BE TIED/TIGHT/CLOSED AT z ]
(x: O0O0OD0y: 000z 0O0O)
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(10) @ | DODO0 =00000 (@)
0000 =[x0[@m0 m[0]0O00Do000O0
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(11) [cvent X ACT ON [@ ] CONTROL [oyent BECOME [0 @ BE TIED AT g ]]
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(13) [cvent X ACT ON [@ ] CONTROL [.yens BECOME [0 [ BE TIGHT AT |]
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ARGl = ): O
ARG2 = g: 00O
20 B -lep
0000 = | mooooo =[x0 [@]0 [@]ooooo
mEO00000 =[|wO [E]0O0O0O
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(15) [cvent X ACT ON @ ] CONTROL [oyent BECOME [y10re @ BE CLOSED AT 3] |]
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(17) {000000*00000000 }0000000 (00 1996: 196)
(18) -e-00 00 x CONTROL [pypnr -..] 00 (00 1996: 197)
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(21) a. J0O0O0O00OO0OOOUOOOOUOOOUDOOOOUOOOOOO -0 BE ADHERED
b. 00000000 OOOOOOOOOOOOOOOOOO0O0O0OO -0 BE ARRIVED
c. 0O00O0O0O0ODOOOODOOOOOODDOOOODOO -0 BE INDUCTED
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(22) [event Xi CONTROL
000000 [cvent BECOME [gate yi/; BE ADHERED/ARRIVED/INDUCTED 100 AT z |]]
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(23) [event x CONTROL
000000 [evene BECOME [state y BE ADHERED/ARRIVED/INDUCTED ;o AT z ]]]]
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(25) [event X CONTROL [¢pent BECOME [5tate BE ADHERED [j,. AT M
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(26) 0000 =000 (@)
0000 =[x0[@m/0000 m[000]0000
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(27) [event Xx CONTROL [¢pent BECOME [5ate BE ARRIVED [, AT M

2000000000000
00
(28) 0000 =0000 (@)
0000 =[x0 @[0]0 [@mooo
MO0O0000000000000000

(29) [cvent X CONTROL [cyent BECOME [y10te 3 BE INDUCTED [1o. AT @ ]]]]
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